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sin(7-a) =sina

cos (- ) =—cosor

tan(7-0)

cot(z-a)=-cota

~tano

cos(a+7) =—cosa
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sin (@ +7)=-sina

tan

cot

(
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a+7)=tang

a+7)=cota

cos(—a) = cosa

sin(-a)=—sina

tan(—a ) =—tana

cot(—a ) =—cota
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CoS| ——o |=sina cot| ——a |=tana
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Sin(a+b) = sinacosb + sinbcosa

mmm = sinacosb — sinbcosa

sinasinb

Cos(a-b) = cosacosb +

cos3a = 4cos3a — 3cosa

= i
e —— cos 2 Sin 2

sin3a = 3sina — 4sin3a

cosa + cosb
— a+b a—>b
cosa — cosbh \\\ . -
. a+b _ a—-b>b sina + sinb
= —2sin > sin > —— a+b a—>b
sina — sinb P
a+b a—>b
cosa.cosb

sin2a = 2sinacosa

cos2a = cos

2

~~ 2 -

a-—sin

2

a=1-2sina

-

1
=5 [cos(a — b) + cos(a + b)]
sinasinb

1
2 [cos(a — b) — cos(a + b)]
sinacosb




